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THAT 99 (Model question)
fau : fasm qor gfata (Science and Technology)

FE o qUIEge : %0
Tqe (&) (Group A)
Fgasbieas 799 (Multiple Choice Question)
1. TART GTHT Fel IATHT el =g (0) AMITR | 90 -9 =90

(Circle the correct answer to the following questions)

(A) T [aepTeep FHTMSTE 8T % &l ?
(Which is the social aspect of sustainable development?)
(a) ITHRT(consumption) (b) ST (production)
(C) FeTRiTeRTuT (empowerment)  (d) Sifae fafaerar (biodiversity)
(B) RITH=F A-hl & &l 7
(What is pollination?)
(a) TRETHT dra giwar (The process of carrying pollen grain)
(b) TR srugTrEFR i gfeRar (The process of transferring pollen grain to ovule)
(C) WIS TWrgadH T iswar (The process of transferring pollen grain to style)
(d) wrTeRur feavwrae g gfeRar (The process of transferring pollen grain to stigma)

(C) Tsar wrewams®a 20 km/h ¥ @1t 30 km/h &1 &% 9afay Jifezesl 3 | afe faeies faaea
feorar Sfew w= faeieear qrafers wfa fMdred @ T ds 7 (One motorcycle is running towards
the east at the rate of 20 km/h and the other 30km/h. If they run in opposite directions, what
should be done to calculate the relative speed between them?)

() TT HIER TTgHAHT T SIS | (The speed of both motorcycle should be added)

(b) TT WeATEHAHT T IOH THIE | (The speed of both motorcycle should be
multiplied)
(C) USaT HiexdEFASH! iqare dH warsqus | (The speed of one motorcycle should be

subtracted from other)
(d) TSeT HeERATEHAH! Aaars db 9T TH9e  (The speed of one motorcycle should be

divided by other)
(D) FarHT 3@TEURT Ied qeqerd T FHHAT 120 N 9 T Hiq Jiet l;;g{m
J313 "k 7 (How much load is to be lifted by the effort of 120 i~ ’3,1,(,3,,
N in order to balance the lever shown alongside?) A o—

@6N (b)20N (c)2400N (d) 14400 J
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(E) Feman faeesar ava qard wif@usr @meual g | (Beakers filled with liquid are given in the
given diagrams.)

L E— | —

—_—
~_—

Tl

P Q R S
qued fegusr fawtewsr fMaar oF =AIH Te@T FAAIAR TG FF FHAAT HATR
TEeles !
(How will you arrange the given beakers on the basis of decreasing pressure at their bottom?)
@PSQR (b) SPRQ () PSRQ dSPQR
(F) T S23Tel HXeh TATTAT MXUeHT aiebl digarel HIaq 43Ul & | (Measurement of intensity of
sound of two different places is given below.)
afedl AT : WATEHA FFRAael TRT TETH eatel draar (First measurement: Intensity of the sound
from vacuum cleaner) = 70 dB

TG A9 © BR [AAI TAHT AAEwd] FARTEE Icd= el daar  (Second measurement:
Intensity of the sound from construction site by the use of machines) = 100 dB
(Which of the conclusions is correct on the basis of given measurement?)
() T APl TR ¥ gleadidl =T g6l &7 |
(Wavelength of the second sound is more than the first one.)
(b) TET AT ARGTHT AT Aleedresl qw=T T¢l &7 |
(Frequency of the second sound is more than the first one.)
(C) FET AT TSIH THTA=IE TEaAlHl =T Tl g7 |
(Amplitude of the second sound is more than the first one.)
() FET AT TRGTRT T qfecdlel T=aT Tel g |
(Velocity of the second sound is more than the first one.)

(G) fegust Meed fa=q IRaIH T TEHhr

Mamn

N . Live Main _“eler wi Consumer's
WEE  qqelidd THEE | A e e o fuse
N KWh * - T
— | [ Tofan—»
ARATAY g R g ST 1
TETded AN SRS ST Cal wire
co. E

e =TS T8 ¢ (Observe the A =
defects shown in the given Earth ~ wire . .

. ) i i connaction 8 2 000
domestic circuit. Which defect FIITTITIT Switch Swich

- for bulb for socket Socket

should be repaired to remain safe
from the shock due to electricity leakage in the house shown in the diagram?)

(a) fa=@ faezs se™ (Connection of electric meter)
(b) &7 feE=rar ste™ (Connection of main switch)
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(c) ®gsTRT Ste™ (Connection of fuse)
(d) =rTeRT SIS (Connection of plug)

(H) taarsirg® g=mar faewar &= &1 7 (Which is the character of the Mesozoic era?)
(a) w=frerr fawrar (development of Algae)
(b) Swo=r=r 3wt (origin of Amphibia)
(c) sreAraRa fammer (Extinction of Dinosaur)
(d) afe=ttr =aarder swata (Origin of first Mammal)

(1) oy fepira = 9T deed gl ®R9 & & ¢ (What is the cause of an atom being electrically
neutral?)

(a) IAFIT T YIEAHT AT SRR g1 (The number of electron and neutron are equal.)
(b) YTE ¥ ~arerl ¥S@AT TR g4 (The number of proton and neutron are equal.)

(C) TR T EFehl AT sRTeR gArer (The number of electron and neutron are equal.)
(d) 3R, FEM T YrEMHl T =R gAt (The number of electron, neutron and
proton are equal.)

() H, LiT K fa=mr & gwmar g ¢ (What is the similarity among H, Li and K elements?)
(a) @ ot g7 | (All are metals.)

(b) T wremq &7 1 (All are nonmetals.)

(c) @er U3d HEH a<a g1 | (All are elements of same group.)

(d) &= wse fufeassr awa &1 1 (All elements belong to same period.)

q9e (@) (Group B)

T BT I ST T¥e® | Very short answer questions. 8x1=8

2. Fad®a A=l & & (What is observation ? )

3. amer T wieeww ftFawfa= & us fa=rar seter | (Write a difference between binary
fission and multiple fission.)

4, TUQTAR! IMHT, [SH AT TAR bl AT, ATIHI [GehIad HAT, HRICAHI ST AR Gl TaT
frrer AT IRT HH A oAt g 981 & [Gwar S g 7
(If you have to choose a plant that has less genetic diseases among the tuber of colocassia,
tuber of potato, seed of mango and branch of lemon, which plant should you choose?)

5. FALTHAT RIS ATNT ATererehl aATaeHT & qieads 95 ? (What should be changed in the
structure of a shovel to increase its efficiency ?
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6. [T SETEUHE ArEdEE AaeT THER | JTHe B a%qe! dRaR F ATHHES T@ FEA
T Alepre, 7 { i
(Observe the materials shown in the given figures. | |
Which material should be wrapped around another
material in an airtight way with a cartoon tape to
make a model of thermos flask?)

= ® |

7. YARTIATH YART g9 &9 Ugal ¥l A1H o&fer ™ | (Write a name of acid used in the
laboratory.)

8. X AEIATE HeATeRATATHT TEET F IS TRadd TUH a¥ IMSTH eTeSIAaTea Aarhar IRrsar
G 79 ¥ 9 F=T A A ISR A AR |

There is no change in colour when X substance is poured in phenolphthalein but common salt
and water are produced when it reacts with sodium hydroxide. Write the name of X substance.

9. 3fW# SiEa=HT HF F TF TAN AR |
(Write a use of bronze in daily life.)

Iqe (1) (Group C)
I SR TS q¥°e® | Short answer questions  8x2 =16
10. T TR o@iEEHr  fAied sEfEr
HTHAT ITAH! faear A T SEATHT TdE] faedr
B & dfg I@SUH G | I AAAAH FAAT 0

q o AITFEE UHATAA (g0 Mewepr 40
B | TR SEIART ATIRAT AATHRT O
AfersTr T fHepd SETEy | 2 ﬂ n I] n h
(In the alongside bar diagram, growth of a '
sun  mon  tue wed thr fir

plant A kept in the sunlight and plant B
kept in shed for a certain period of time

o O o o

are shown. In this StUdy, all other ® height (in cm) Plant A height (in cm) Plant B
components are controlled. Write each of
finding and conclusion of the study on the basis of a bar diagram.) (1+1)

11, JUIES AT AL FIAFT AN SATARATE FAT TANT e, 7 % TSI ANFHE® TSR |
How can you use a scanner in your study work? Write any two ways.)

12. &ET Y&H Srdewedl (=7 drderAr fagus g | (Diagrams of a few microorganisms are given in
the table.) (A)
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RS P FeHsIEa Q JeHsiEa R

(Microorganism P) (Microorgarism@Q) (Microorganism R)

X

) FeHsig P &l IANTEEAT JUANT Wiewg (For what type of industries the microorgansmp
are used?)

b) STIFHA FFRE AA IAGT I Tel adarsd &d q&H SiEdis 94 g 7 (Which
microorganisms of the above can be used to make compost fertilizer and curd?)

13. T 32 fofawsr #ves faguar g9 | X ¥ Y [aa@r &er

Fag9s® g1 | (Two types of cells are given in the diagram. X and /:’Q—\ A
Y are their organelles.) E—F

(a) @Td D 9UA HH FIUATE HA AT HhAT FeTeA=a] arel TG ?

(Conduction of which life process will be resisted if organelie X is absent?)  r—14-

(b) FITHT TFUT HHATS (AT TAT F=aTeld T+ Aadd HA &l ? c—4&

Which organelle controls and conducts all functions of the cell?
14. fava qmaAe afger sRoe Sfas fafagarn e e &
TeAEr FRO w&le™ | (Write any two causes of degradation of biodiversity due to global
warming.)
15. TF ST [FATHT S USer MR GAdrhl a1 WHl G | Al fqqe | geaardr a9
THe ™ | (A farmer has a quality orange plant in his garden. If he likes to grow more orange
plants from it, the grafting method is beneficial to him. Explain its causes in two points.

16. GIISTHT T TEATT T TEAETH |
(Write any two properties of minerals.)

17. T a7 T8 BT FAR Hell qead T FIS &ar FIe ART g Tl GHEATER GRIHN AT
IGU | AT GEET FHIEH AT TATES  AIATST H qZATET IU FETEr™ | (There were
problems in the tap water such as washing clothes not foaming well and dirt not being
removed and hair becoming rough when washing it. Write any two measures that you will
use to solve this problem.)
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g9g (d) (Group D)
AT IO ATSH ge9e® | Long answer questions 4x4 =16

18. TIRTHAT T 2T, sANTE T TGS H¥(dg radl TATITHAT Ueh T3 IaTexvrdted STRAT
IR I¥qd e | F ST AR aad graidoirdebl TARTA aTHl @Iel H1d Fesl AU G
(Give an example of each of search engines, blogging and cloud computing services; and
present your view about their popularity among the users. Present your argument about the
statement that use of artificial intelligence in search engines has made it easier for searching
work in two points.) (3+1)

19.. For=HT T3er YA HFR I@reUal B | (A picture of a pressure cooker is shown alongside.)

(®F) T FHF ITqATE T BATVSA WAl hale AATSHHh HRO AT
THer™ | (Explain the cause that the cooker is made of metal
and the handle is made of plastic.) (2)

(@) Y FHERIAT @AT JHhSal &A (qigere qrasl TaRT g 7
I fafuer & TF YART TR |
(When food is cooked inside the cooker, which method of
heat is transmitted? Write a use of that method in daily life.)

(1+1)

20. FepcaHl ATIad fagTeieT AaRAT B a1 (Give reasons on the basis of molecular
theory of magnetism.)

(A) TFEFA HATHHT FIEIETE AFYI T, X ISP SEPIEATE AT 9 Tde | (A magnet can

attract iron nails but not wooden strips.) 2

(B) USTT B THFHATs 29 @RS aT ATR] AP TR 219 T |
(Magnetic strength of a bar magnet decreases on hammering it.) 1
(C) FATHET HITATE IR T(&T0 [THAT T8 T Fel fad STHIAAT ST =[FeAebia qurehl [ g7 |
(Magnetic properties develop on an iron nail buried in the earth's crust along the north-south
direction.) 1

21. A qaH! TRATEEF qLET 9% B T
(The atomic number of an element is 19)

(®) THI dqedebl A deeE | (1)
(Name the element.)

(@) & TTahl Fgobd defard | (1)
(Write down the symbol of the element.)
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() ST Tedel agsaar wiq arar 7 (1)
(What is the valency of the element?)

(&) IHT aed Wifes AfwrT &1 &aq1 958 ¢ (1)
(To which group of periodic table does it belong?)

© ureTshy fa@™ &g 1R0¢o



JATESSTHT (Answer key)
Iqe (%) (Group A)

1.
A B C D E F G H | J
c d C b d Cc b c c c

AgHA Hissreb (Marking scheme)
qHe (@) (Group B)
2. Statement based on something one has seen, heard, or noticed etc. or experience gained
from sense organs is observation. 1 mark
3. Inbinary fission, two parts are produced that have the potential to grow into new organisms
while in multiple fission, many parts are produced that have the potential to grow into many
daughter cells. 1 mark
4. Mango plant is produced by sexual method. The plants formed by sexual method are affected less by
disease due to their genetic variation. 1 mark
5. By making the handle longer with the use of any kind of available material like wood, steel pipe etc.
1 mark

Glass bottle wrapped with aluminum foil is kept inside plastic bottle. 1 mark
Hydrochloric acid or Nitric acid or Sulphuric acid 1 mark

HCI 1 mark

© © N

Making medal, coin, making utensils or other appropriate example. 1 mark

JHe () (Group C)

10. Result- Plants in sunlight have greater height than that of plants in shed. 1 mark
Conclusion- Plants need proper intensity of light for their growth and development. 1 mark

11. 1 mark for each correct response maximum 2 marks - By copying and storing the required
documents.

(a) By taking copy of done work to send for evaluation
(b) By scanning photos for project work
(c) Or other correct response

12.  Microorganism P/ yeasts are beneficial to distilleries. 1 mark
Microorganism Q/ bacteria can be used to make compost fertilizer and curd. 1 mark
13.
(a) Nutrition / Photosynthesis 1 mark
(b) Nucleus/F 1 mark
14.
2 (Full Credit) Full credit to the response for mentioning the process of biodiversity

loss any two of following or any other valid answer.
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- Due to high temperature, some species go extinct.
- Due to high temperature, some species migrate.

1(Partial Credit) | Partial credit to the response for mentioning one of the processes of

biodiversity loss, any two of following or any other valid answer.
- Due to high temperature some species go extinct

- Due to high temperature some species migrate

0 (No Credit) No credit for wrong response or no response

15. 1 mark for each correct response maximum 2 marks-

New plants formed by the method have all the qualities of the mother plant/the plants formed by
grafting get matured earlier to give fruits/needs less time to grow them. 1 mark

Offspring formed by sexual reproduction show the common characters of father and mother both
as two gametes of different types fuse in it. 1 mark

or any other valid response

16. 1 mark for each correct response maximum 2 marks-

Minerals have hardness, colorful, electrical conductivity or any other valid response.

17. 1 mark for each correct response maximum 2 marks-

18.

The well water should be boiled in order to remove its hardness.
The well water should be treated with washing soda. or any other valid response.

qH9e (°) (Group D)

Google search engine- users can search in a very fast and precise way, large number of search
result or appropriate — 1 mark

Blogging- users can create the blog to publish their post without buying a cloud storage— 1 mark
Cloud computing- Google provides a cloud storage of 15 GB in free to its users. — 1 mark
Artificial intelligence- Google search recognizes the searchers record and provides hints. It
displays the possible search related to our need. Without it would limit our approach possible
resources in

Internet — 1 mark

Or any other appropriate answers.

18. 1 mark for each correct response maximum 2 marks-

20.

Metal is conductor of heat and plastic is insulator 1+1 marks
Convection 1 mark

boiling water 1 mark

or any other valid response

Reorientation of molecular magnets in domains of iron nail 1 mark
No molecular magnets and no possibility of getting wood magnetized 1 mark

(B) molecular magnets form close chain 1 mark

© ureTshy fa@™ &g 1R0¢o



(C) alignment of molecular magnets in iron nail according to terrestrial magnetic field 1 mark
21.

The element is potassium. (1)

The symbol of potassium is K. (1)

The valency of Potassium is 1. (1)

The potassium belongs to group IA /1 of periodic table. (1)
[T AARTATAR JAIT [HHIOT T&7 TN TH Fichd THAT =<2 (Checklist)
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] | gl T A= 0 SQ
10 | ey i MCQ LQ
e Sfra=r g gq 19
W o w | LQ | VsQ MCQ
STHAT q%0 q0 94 ALS q0 10

MCQ = Multiple Choice Question
SQ = Short Question

LQ = Long Question

VSQ = Very Short Question
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